Ratio to ATLAS

[EEY

0.5

13000 GeV pp tt
_| I I I | I I I | I I I | I I I |_ 9
3
— ptTtbar (ATLAS semileptonic ttbar) —3
— =
~  m  ATLAS 14
~ —&— Pythia 8.308 default N
—— Pythia 8.308 tune-A14-CTEQL1 iE
e Pythia 8.308 tune-A14-MSTW2008LO -
N Pythia 8.308 tune-A14-NNPDF2.3LO 13
C - A\_Pythia 8.308 tune-CUETP8S1 mps
= ek
| S Nep)
- <
(40)
- 1o
| _1O
(90)
—i
— - >5
= .8,
| —
(@)
B e
— - ©
s!
[%2]
= =i
— 1a
: o
H e HE
:l T T | T T T | T T T | T T T |:
— 42
1
| —0.5
| 1 1 | 1 1 1 1 1 1 | 1 1 1 |
0 200 800

I
40({b t 600tbar{t _
p“*'} [GeV], Iy} in [0,0.4]



	Contents
	Page 1


